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Fill in the blank.
A(n) triangle is a triangle that has no right angle.
OéﬁLHQ

Fill in the blank.
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The area of an oblique triangle is given by %bc sin A = %ab sinCcC= 2 .
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3.+ -3 points LarTrigd 3.1.006.

Use the Law of Sines to solve the triangle. Round your answers to two decimal places.
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4. + —/3 points LarTrig9 3.1.011.

October 25, 2016

A=78°20, C=60.4° c=13.1

+ —I3 points LarTrig9 3.1.026.MI.
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Use the Law of Sines to solve the triangle. Round your answers to two decimal places.
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Use the Law of Sines to solve (if possible) the triangle. If two solutions exist, find both. Round your answers to two decimal place:

A=130°, a =195, b =270
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(If a triangle is not possible, enter IMPOSSIBLE in each corresponding answer blank.)
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6. + —I3points LarTrigd 3.1.027.

Use the Law of Sines to solve (if possible) the triangle. If two solutions exist, find both. Round your answers to two decimal places.

A=76° a=10, b=12 (If a triangle is not possible, enter IMPOSSIBLE in each corresponding answer blank.)
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7.+ -3 points LarTrigd 3.1.026.

Use the Law of Sines to solve (if possible) the triangle. If two solutions exist, find both.

A=57°, a=34, b=21

_ |:| o Round your answers to two decimal places. (If not possible, enter IMPOSSIBLE.)
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No. This is sin (B). We
want B. Neglected to
take inverse sine of this,
to find the real B.

See
3-1-notes-updated.pdf.
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No.  This is sin (B).  We want B.  Neglected to take inverse sine of this, to find the real B.
See 
3-1-notes-updated.pdf.
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8. + -/6 points LarTrig9 3.1.029.

Use the Law of Sines to solve (if possible) the triangle. If two solutions exist, find both.
A=56° a=12.8, b=149 Roundyouranswers to two decimal places.

Case 1: Case 2: (If a triangle is not possible, enter IMPOSSIBLE in each corresponding answer blank.)
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9.+ -3 points LarTrigd 3.1.031.

Use the Law of Sines to solve (if possible) the triangle. If two soclutions exist, find both.
A=101°, a=b=28
o Round your answers to two decimal places. (If a triangle is not possible,

c= l:l o enter IMPOSSIBLE in each corresponding answer blank.)
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10. + —i3 points LarTrigd 3.1.035.

Find values for b such that the triangle has one solution, two solutions, and no solution.
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